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\1.  Let f(x)= iii" and | 8(x) = x + 2 be two functions. Which one 0
X L9
following is true about the combination values of f an:_:l_ gat x =2
A, (fg)(2)=6 Cc. (f+g)2)=3
B. (5](2} == D. (f-8)2)=-1
g 3
_r“- 2. Which one of the following defines an exponential function?
A. f:R—>(0,0) defined by f(x)=b", where b>0and b= 1.
B. f:R—»(0,) defined by f(x)=x", where b>0and b= 1. 5
€ f1:0,0)> R defined by f(x)=b", where b>0and b #1.
D f:(0,00— R defined by f(x)=x", where b>0and b 1.
b 3.

Let f be differentiable function at a number ‘a’ for a € Domain f. In the
f(a+h)—f(a)

expression = for h # 0, as h gets closer and closer to zero from

both directions, the expression becomes closer to f'(a)which is equal to
The gmd?ant of the normal line to the graph of f at a point (a

The gradient of the vertical line to the graph of fat a St , f(a)).

The grad}ent of the secant line to the graph of fat a i (a, f(a)).

The gradient of the tangent line to the graph of f at f‘;ﬂim(?;“f(f?:%

onw >

JOIN US ON TELEGRAM @QESEMACADEMY -



JOIN US ON TELEGRAM @QESEMACADEMY

JOIN US ON TELEGRAM @QESEMACADEMY


Sy

Subject Code: 02

N

T

and the line segments

In the following ﬂsﬁ’l'“i 0 s % b thﬂdGEimlE pectively
10 e ToLoNTIe DR the circle at D and E res - :
AB and AC are mterswﬂ"fg;c) = 50°, then which one of the following

If m(LACD)=30° and m(
is equal to m(£BAC)? E ’ &
i =
B

C. il 208

Al A7
Dol

B. 80°

Let p and q be pmpusmuns .'_Which one of the following propositions is
a tautology? gl
A (Pz:’""q)ﬁ(PﬁiI) i C. (pnq)::r(pvq) :

,;-fB | (—.p:bq),:h(Phq)J_.-fd*A ¢ ( D/ (pva)=(pAq)
2n2 ' Fids;
| 5".. I

If 180 individuals can éﬁmplcte ajob i !
iduals Job in 15 days by working 10 hours a da
how many individuals are needed to complete the job in 10 days if the:‘;:

work 12 hours a day? |
B 2000 C. 225

g " D. 220 o<

5 ) f
ey

D.idg T
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112, Which one of the following i$ NOT a valid reason for saving
A.  For betting in football
B.  For vacation |
C.  To maximize interest .
D.  For the time of rctirement.

A13.  The shaded region in the fullnwi.ﬂg figure is the graph of a relation R.

L,
L ]
)
R
B "‘-“-“i‘i‘i‘ o
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L
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'.':3-13-55-5.: "t 0 fﬁments If the

o .}-I ee ufr(x) < degree of

.' r “?i‘"ﬁ -mnst&nt polyn are number, then the

en f(x) divide o).
C nstnn polyn . ' 18 a real number, then x —c¢

f{x} if and nnl , -

and false respectively. i

.|ii N
correct?
‘:f -ﬁ ¥
mp ' ﬂ is false.
i gu A\ q 18 true.
e%a.

Ll Pk
I i ‘
3. B

+4+6+8+10
* ‘*ﬂ : '8+18+32+50




' nooﬂetcode: 110

gﬂl,ﬂﬁ from polyester and

i.

N 18 e . ": f cotton 1n
' 18-,' n:'u ‘tS f J ESt aﬂd%ﬂﬂ“ﬂﬂsn
N cntton. Th; uzlts épf and 4 units of cotton

its store. & | 3 units of polyester a:nd 3 units of cotton. If
where as a v ! g from each black shirt and Birr 200 from
He fﬂﬂt&l‘j{ m m rﬂﬁt of the cﬂmpaﬂ}"’
each white st L Bm: 344 000
A B | D  Birr 200,000

B. Bu'rl

19, Lets, T be any three sets. Which one of the following is NOT true
ek M ﬂbﬂutthe Petadl r:..' N i T ‘ o A

A.

B.

2

D,

[»20. Which ﬂne of th:euf E OWi al to the polynomial function

f(}{} J{ +4x+4;'?““h yrF2AT2NR 54
A. X=2)( feaiehit
-I it h_ : '}{_C_-K'i_l-]'q"--h.f
B. o
(x12.)
:C;"if
1iXn e e+ -
D.
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270

Suhject Code' 02 ﬁfﬂ“ Ero
e 5 1S @ common multiple of 324 and 1152
25.  Which one of the fo i? '

5184

- 2
A, 13824 --*-if'i:-: # D; w7776

B, 20736

_,ﬂr s i _-

b :‘%\ i .:'i:'-'::i:i".':.b-i-

26. Consider a circle Wh
chords of the mzcle aﬂ She

l# . -

'm(ZBOC)?
m(LACB) = 40°, : ” i i) :
1\ R g QRN
128 7 i il
| :
|
A. 120° 100°
B. 160° 80°
e Whlch one of the fnlluwmg 1S the solution of the equation A
Sl 23 (81 X2
Lot =" T (243) 3 in'the set of real numbers? (i
g2 =k AL Lt i
;. B. 9 r 2 S D 1 T
‘3 ) :{3"{.) 3 \ WO X L7 | € <
28.  What is the total il “ I 3
: at 1s the Slll'f&ce :
: 8cm and base area 25 ¢m? .nf " "B square pyramid with stant FEight
A 80 cm I 105 o
B.  65cm? ' i
D. 90 cm
e, T I

e e

. l-.g:n.: I_-l‘!q].
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rade 1! -students of a certain

1 f’ &

41-50

9
AT T
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a1 — i e
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— .

AR £ . ‘!f‘ -—ﬁ; ‘:-'- 7 . I
What is the median of the data given in th

; _.' A . s 58.5 hibiue .._Ir.l X

j ¥ 6ﬁ5 bl X‘* A by =43 _'I_‘T'_.'

' [

ey

i T
A
(==

g = it

o
b=

1y
I
K3

' 3 (g R
IR Y e A

'?"5"’.:' graph of f(x)= x> and
LT R

(15} IJ
b

30. What is the area of the region bou

~ x-axisontheinterval [-4,2]7 |
~A. 120 Square units €. 60 Square units

) B 136 Square units S ﬁﬂSquaIe units

L Rt
F, : W -F e
|- 2 A
e i = *
e e

31 +:'If' a=2-3J/5and b=3+2/5, the chune of the following is true?
~ 4A. ab=36 $oC. atb=5

B, 1la:b=-36+135

L
-

e B,
1t

-.z A sector of a circle of diameter
~ What is the area of the sector”’
PEENA. 8z cm?

21 cm?
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intervals is the solution set of the inequality

Which one of thh{” Ilo
'3'-— '{5 ? ?' 1." ‘?’1.!”" i i s % 9

(~16,4) fr" 4 j- e (-8.2) Wi s )
5 (419 R D (-28)

The altitude of a frust
volume of the frustum
side length of the lﬂ'
A, 108 cm® 1 A
B. 324cm’ N

c';", spe Lt
D.o 1964:.:11:1?_’

Which one of ﬂi“e}.:-' 'fﬁﬂb".“;f g numbers is the cnefﬁment of x°"* in the

expansion of (x j
A 4860 | o E -
B. 1260 RRLY .. K, I. i ' FIIII i D | 5;'3
Which one of the follow
of s give ) o rue about the Range and Interquartile Range
M, B MELS e
oth are conside Oﬁl}g the middle 50% of the data.

B. ires o
o g:tt;ll are :;:waf variation of the data
o i :rl': _l:tﬁdr,by €xtreme values in the data.
measm‘es nf thg vanahlllty of each item in the data.

avf2abye™ T
(o ,_r)) | C#ﬂ**f ~ Y Loy

-
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O
(125)3 (81) 4

2 3 :
(27) (625)4

s

-. “ the length of the sides of a triangle are ch, &m and 4 cm , then which
_ e of the fullnwmg is the area of the tnaﬁgle?

1.5«55 cm” £ 12emt "

The following figure is the graph of a quadratic function f(x) ey
- 1e set of real numbers.

s the solution set of the inequality (x)< 0"
C.  ixix<2orx26}
D _{*:Klz_andxgﬁ}

I ﬁh one of the following i
F (x:x < 0and x =4}

{x: .x < —4orx 20}

i
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11 belﬂw ; ATkt
2.6, 12,183 ?5 10, 8, 3 " i
g ls the coeﬁiclent of range of the data?

i 167

:- au;i 2 4 bx +¢=0, such that
L c 31-'3 real numbers and a ()
" can be ?h& valiaga ufa b and C respectwely?
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hwmg data gjves the scn
mation: 6, 10,8, 5,9, 8, 5, 10, 10,

H 6denatmn of the ¢ given data?

h of the fﬂllnmg pairs of lines t
bi:X—y+3= Oand £, :—x+y- )
€1:4x—y=2and ¢, : -—x+4y—~*
€):2x+3y=5and £, : 3x+2y
£:x—-2y+1=0and ¢, : x+2y
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¢ number of traffic accldents in a certain city
vars from 2019 to 2023

\Ver: f accidents per year fnr the given five years?
B. 3270 S Sdrasen D; i iin3210:
D 49. s the solution set nf the equation i
P : PN & .Jf 2T
A076 ;_?L
B Co fl1l 0 2 s e
9 oy - 2 —=Xr -5
£ e J !

i II f - %
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m of the followin

Pﬂﬂlt that divides a I
€ ratio of 3:4?

, (2 _4) M
:.F; 1l (_2 ...4)

""I.l'

respentwe dummns*?

f( )—

el
1

2

¥ Vhich one of the
X Flrst the popu

r F1rst divide a ¢l
- principals from
Qelecting

randomly.
Selectmg a group ra

pﬂpulﬂt]

and g(x)=

/hich one of the following numbers is theé ¢

us '. i
onjniogroups. (RN, ) - 2 -

1

r-"**- #

| .}_
r,;, l “f '-
%-FI r!tll i FL{‘.
g ordered paj qﬂﬂ-’ﬂs the coordinates

Ine segment y t_Fﬂi [rodid " A(k'i, 1} and B{ 6 8)

f

2 Tl

h one ﬂrf the fnlluwmg pairs of ﬁ.l o t. Fﬁi@{m‘-’ﬂfﬁe of each other n

f(x) = x° and g(x)= = | ot

X et Rk i
R o ) S

' L f(x) = 13*1 and g(x) =§f:-:_+l R e e

E+I g T L A
.‘i-_' el i e

£ |.:._

(for+8) = (2

(T
W _Fflﬂﬂl'r R Y

L RS

W LS e AT ek

following is a simple lﬂﬂm sa!niﬁii‘ng?
lation is divided into hmnt}gmnus groups and a

A A

e is selected from edch humﬂgmm’fs group.
- t}’ ll’ltﬂ ten gl‘ﬂli]"‘ dn %IEE’ thﬁ’ ﬁﬂﬂﬁndar}' school
the randomly selected 3 groups,
five students fmm grade 12 Sﬁudents of the same schoo!

ndomly from grﬂ;&ps ﬁlrmad by dividing the

e ——— 2

e 1 -
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" cets that contain 15 and 17 elements IeSE - _velg-u B?
olements, what is the number of elements In |
i C. 42

D, 32

X755, " TetA anoit

of the fol Wit g is the position vector of the vector wlith initial
point A (1, ~1) and teminal point B (2,-3)? ~ ~ p- 7 ph |

A1 R C. 31—4_] ; (..1__,-"--:; ¥ -
D.. gl

ndard position and P(~3, 4) be a point on the terminal
side of 6. Wh 5 the following is true about the corresponding

'n:._ -"'l'-'_.l V .JI

Clhiinsing = Wi
=23,

D. cos@=

wis NI

f ;Tah;hs :cﬂhetha‘ .; SHOWINg conic section 1S defined by
i Ellfpset “¢ Sum of the distances from two giy

“the set of points in »

€N points is constant’?
C.  Parabola i
D. (oS e o >
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:;—“‘ ot a ; |
ol b . 17
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59,
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/hil one of the following system of | 1ear lﬂﬁiﬁﬂhﬁﬂﬂ is represented
e shaded region in the graph? @ feve

:*Qx+y£4 i

3x—-y<6

2x+y=4 D.

fix—ys0

- [
1
- " 1

- i
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